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0T E%EE S name ~ age ~ isMarry ={E8% - 2P ERAFESRL - FELUR

RECHE
var name, age, isMarry; //E% name, age, isMarry ={HEE)
name = "F/[\BE"; //name EyF &k}
age = 34; llage BEEBIEHR
isMarry = true; /lisMarry Ryfrkett
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FHT EHTHE | EEX Zb=10,¢c=3 FTHagh:EHELE

Lzhil] + a=b+c [a® 13 (10+3)
TEIE - a=b-c |ae7 (10-3)
LEES . a=b*c |[ae30 (10*3)
a3 (103 > BEMHERERNESR)
TEER / a=b/c |EFb=10.0 ¢=3.0

(a=b/c HI a=3.333333333333333)

HUEREL % a=b%c |a® 1 (10 % 3)




® PI9-12E : ABFRIFRE

== HE X=Y N==¥y
e EHEFIZEIE - s
- e X===Y
1= THZE X#£Y X1=¥
- EH AR s
e FAEE = it
> A X>Y X>Y
& JNER X<Y X<Y
>= RIAHER XzY X>=Y
<= IR EE R XY X<=Y

® Pl0-3 B :ABFKERE

P46

fal tru
BAEMR 2 “ee BAER |

s
o

® Pl0-13 E : ABFRIZERE

10.2.3 do...while &I @ E

do...while Bl4FF01 while fiX » B&EENEZERRTREERERFAHAEGER
FRRERSENCBARNTEAERHR - BRHEENEERPT USRS ERT
—X - WEEEXER "RE=EE, - do...while FUREREFREBE O TR

do{
/IR EETE
}while (f8fF=0)
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~for (var i=1 ; i<=9 ; i++){¢

Fh A for(var k=1 ; k<=9 ; k++) (¢
E| = i s

2B smtik=irne

}e
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<body>+
<script><’
document.write("<table border="1">");<’
—for (vari=1;1<=9; it++) {<¢
document.write("'<tr>");¢’
for (var k= 1; k <=9; k++) {¢
|: document.write("<td>" + i + "*" + k + "=" + (i * k) + "</td>");¢
1€
document.write("</tr>");<’
— e
</script><
</body>«
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